(@ Rellmg & geno die and getting headls on a pemy

(

TdentiPy as  independent o degg_wie_rj—;

®P~°“Mg o die and spining 4 Spinhey _
@ selectng a ctile enting #, Celecting antver

@Ohoosn‘ng a marble, replacing :},aﬂ‘lchoos:‘uﬂ anether

@&leeh'ng a. m E:.m ,eah'r\ﬁ i, and rolh‘ng adie _
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Ogain and ge’rh‘nq x5 o _

(@ There are 4 red skitttes, 6 yellow | andd greenin abay.
Find H probanlety of choosing o red| eattng - and Heen

chosstng qrean. .

Using Sawe tnformation in 7%, choosing o yellow, eating it

Wen chosging  ansther »fel[aw,
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